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1  �$%�(#�2�!)��
�&!���	!$!���*&�!#&+!���3#!
(�#�!)���$�!�#��*&�!#&+!��(�4&+)&5$��$!�*�!#�&!�

��������6��7,8����606609
1#!)3#�:���$#��;��*&�!#&+!�:3�5��

1#53��<���+!�=�#�����0��0

*�+&����$����&%��<��1 #&%�����0��7
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	������� � ��;$#�� ��� �3!%& �� :#��� @����� �
		�--�.
A������ *�!#�&!�� 4&+)&5$��� (�#� 1  �%%$�!�� � >$#B� ��
�#C$�D����>1�?������E1	@�	�.�1		��
1��	��A$%%��
-$D���4&5)&5$��� (�#�1  �%%����� ��������
�� ���;$#����
�3!%& ��:#���@������
		�--�.�A������*�!#�&!��4&+)&5$��
(�#�1  �%%$�!���>$#B�����#C$�D����>1�?������E1	@�	�.
1		��
1��	��A$%%���-$D���4&5)&5$���(�#�1  �%%����
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�-1?���&#+3&!�:3�5�����)&��&��$�+����%&�$!���$  �$%���
�
�$��� ����� �������� $��� ��������� 1  �%%$�!�� �����
�$��2$����$  �$%��(#�2�!)���&�!#&+!�+�3#!F���#��#�5#$�!&�5
�322$#B�G3�52��!�&��($'�#��(�1  �%%����!)����!$!���(�
#���
"$'$��HI!)����!$!�JK��$;$#�&�5�!)�� #�+������(�
#����"$'$�F�
�2 %�B�#�� ����#����!�+D�&�'��!2��!� %$��!��!)����!$!����
�
�$������������,���$�������������$��2$���$  �$%��(#�2�!)�
�&�!#&+!�+�3#!F���#��#�5#$�!&�5��322$#B�G3�52��!�&��($'�#��(
!)����!$!���$;$#�&�5�!)�� #�+������(�
#����"$'$�F���2 %�B�#�
� ����#���%&(��&��3#$�+�� %$��!��!)����!$!����$��2$���$%��
$  �$%��(#�2�!)���&�!#&+!�+�3#!F���#��#����B&�5��$��2$��F�
2�!&���(�#�#�+���&��#$!&�������#�!)��#�$�������!�(�#!)�=�%�;�
;��	

����!)���&�!#&+!�+�3#!F���#��#����

�	
�������


#���� "$'$�� HI"$'$�JK� =�5$�� ;�#D&�5� (�#� ��#�� 4�!�#
��2 $�B�HI��#�JK����:3%B��0�����0�����	� !�2=�#��6�����0�
"$'$�� �%�+!��� ��#�F�� �$�&+� >#�3 � -&(�� 
��3#$�+��
$�2&�&�!�#��� =B� :�)�� �$�+�+D� 43!3$%� -&(�� 
��3#$�+�
��2 $�B�HI:�)���$�+�+DJK�$���
�
�1���-&(��.���$%!)

��3#$�+����2 $�B� HI
�
�1��JK�� �"$'$�����&5�$!���)&�
2�!)�#��
#&���"$'$���$��!)��=���(&+&$#B��"$'$��$%����%�+!���!�
 $#!&+& $!��&��!)����#��	$'&�5��$���	!�+D�
�'��!2��!�"%$��(�#
	$%$#&����2 %�B����HI		
"JK���

"$'$��$����$��2$���2$##&������:$�3$#B�07����6������
4$#+)������6���"$'$��+)$�5���)&��=���(&+&$#B����&5�$!&��
(#�2�)&��2�!)�#�!���$��2$�����"$'$��(&%���$�+�2 %$&�!�(�#
$��3%2��!����*�+�2=�#�������6���$%%�5&�5�!)$!��$��2$��
��!�#���!)��2$##&$5��!)#�35)���+�&!��(#$3��$���+��+�$%2��!�
$���!)$!�!)��2$##&$5��)$����'�#�=����+���322$!�����"$'$�
�=!$&����$���($3%!�G3�52��!��(�$��3%2��!����1 #&%�0�����60�
"$'$��$����$��2$���)$��%&!!%���#����+��!$+!�!)�#�$(!�#��
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"$'$�� �%�+!���� !&��$%� -&(�� 
��3#$�+�� $!� (�3#� !&2��� )&�
�$%$#B������=#3$#B�������������)��� !&��$%�-&(��
��3#$�+�
;$�� !)#�35)� !)���$�&+�>#�3 �-&(�� 
��3#$�+�� "�%&+B�� � �)�
� !&��$%� -&(�� 
��3#$�+�� �%�+!&��� (�#2� �!$!��� !)$!<� I�)�
=���(&+&$#BH&��K�(�#�� !&��$%�-&(��
��3#$�+�����2B�%&(���)$%%
=�� !)�� �$2�� $�� ���&5�$!��� (�#� 2B� �$�&+� L>#�3 M� -&(�

��3#$�+��3�%����
�� �+&(B��!)�#;&���=�%�;L�MJ�H:�1��$!�����K
"$'$���&����!�� �+&(B�$�=���(&+&$#B�3���#�!)��� !&��$%�-&(�

��3#$�+����

"$'$��$���-B���1���#%��2$##&������	� !�2=�#��6�����0�
	3=��N3��!%B�� ��#�� $���3�+��� $� ��;�  �%&+B� ;)�#�=B� $%%
 #�'&�3��		
"�=���(&+&$#B����&5�$!&����;�#��#����#���&�'$%&�
$���(�:$�3$#B�������7���
���#�!)����;� �%&+B��&(�$���2 %�B��
�&����!����&5�$!��$���;�=���(&+&$#B�� !)�� �#������!&!%��� !�
#�+�&'�� !)���2 %�B��F�� %&(�� &��3#$�+�� #�+�����;�3%��$%��
#�+�&'��!)��		
"� #�+�����3 ���!)���2 %�B��F����$!)�����
	� !�2=�#� 06�� ���0�� ��#�� &��3��� $� �3  %�2��!� !�� !)�
 #�� �+!3��$���$�#�2&���#����*�+�2=�#��,�����0�!���O %$&�
!)����;� #�'&�&��� &�� !)��		
"� ��+32��!��� �"$'$���&����!
���&5�$!��$���;�=���(&+&$#B�3���#�!)��		
"���

�����'�2=�#�6�����,��"$'$��+�2 %�!���$����&5����$�(�#2
�%�+!&�5�!��+��!&�3��)&��� !&��$%�-&(��
��3#$�+��$!�(�3#�!&2��
)&���$%$#B�$���!�� #�'&���P,������� �3�$%�+�'�#$5��(�#�)&�
!)�����+����;&(���1���#%����

"$'$�� �=!$&���� $� ��($3%!� G3�52��!� �(� �&'�#+�� $5$&��!
1���#%�����1 #&%�������������)����($3%!�G3�52��!��(��&'�#+�
'�&����!)��� !&��$%�-&(��
��3#$�+��+�'�#$5���(�1���#%����

"$'$�� #�!&#��� (#�2� ��#�� ��� :3%B� 7��� ���0�� � ��
	� !�2=�#� ���� ���6�� "$'$�� �O�+3!��� )&�� -$�!� A&%%� $��
���!$2��!� HIA&%%JK�� � 
�� )&�� A&%%�� "$'$�� �$2��� )&�� !;�
�� )�;��� �&�+��!� ���+)�#$!!�� $��� "$3%� ���+)�#$!!��� $�
=���(&+&$#&����(�)&����!$!��� ��)��A&%%��������!�2��!&���!)�
 #�+������(�!)��		
"��#��(�!)��%&(��&��3#$�+�� �%&+&�����

"$'$���&������:3�������������1!�!)��!&2���(�"$'$�F����$!)�
!)�� #�+������(�!)���$�&+�>#�3 �-&(��
��3#$�+��;�#��'$%3��
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$!� P7�������6�� ;)&%�� !)��  #�+����� �(� !)�� � !&��$%� -&(�

��3#$�+��;�#�� '$%3��� $!� P�6��,���� �
�
�1��F�� #�+�#��
�)�;��� I������ "$'$�J� HI�$��2$��JK� $�� !)�� ���&5�$!��
=���(&+&$#B��(�!)���$�&+�>#�3 �-&(��
��3#$�+����

-�!!�#�� �(� $3!)�#&!B�;�#�� &��3��� !���&�+��!� ���+)�#$!!�
HI���+)�#$!!�JK� ��� :3%B� 0��� ������ $  �&�!&�5� )&2� $�� !)�
&��� �����!�  �#���$%� #� #����!$!&'�� (�#� !)�� ��!$!��
���+)�#$!!�� &�(�#2��� 
�
�1��� �(� )&�� $  �&�!2��!� ��
	� !�2=�#� ���� ������ � �)�#�$(!�#�� ��� �+!�=�#� 0��� �����

�
�1��� &�(�#2��� ���+)�#$!!�� !)$!� �$��2$��� )$�� $�
&�!�#��!�$��$�=���(&+&$#B�&��"$'$�F��%&(��&��3#$�+�� #�+�����
���+)�#$!!������=�)$%(��(�!)����!$!��� #�!��!���!)�� $B2��!��(
$�B� %&(�� &��3#$�+��  #�+����� !�� �$��2$���� � �����N3��!%B�
:�)�� �$�+�+D� $��� 
�
�1��� (&%��� $� +�2 %$&�!� (�#
&�!�# %�$��#�H�$������������,���$����������K������=#3$#B
0���0������1��!& 3%$!����#��#�;$����!�#������:3����,��0����
�&�2&��&�5�:�)���$�+�+D�$���
�
�1���(#�2�!)��+$�����:�)�
�$�+�+D� $��� 
�
�1��� �� ��&!��� !)�� �$�&+� >#�3 � -&(�

��3#$�+�� #�+�����$���!)��� !&��$%�-&(��
��3#$�+�� #�+�����
!�!$%&�5�P0�����7��,��;&!)�!)���&�!#&+!�+�3#!���

�$��2$���(&%���$�+�2 %$&�!�H�$����������������$������
����K� $5$&��!� ��#�� $��� �&��%&!B� 
�'��!2��!� 
��!&!3!&��$%
	�#'&+�����2 $�B�HI�&��%&!BJK�(�#�!)�� #�+������(�!)��		
"
���:3���0���0��������#��;$��'�%3�!$#&%B��&�2&�����(#�2�!)�
+$������:3%B�����0�������)����!$!��#�N3��!���$���;$��5#$�!��
%�$'��!��&�!�#'����$!�$�)�$#&�5�)�%�������=#3$#B����0����

1!� !)�� )�$#&�5�� !)�� �&�!#&+!� +�3#!�� ��� +#����2�!&���� (�#
�322$#B�G3�52��!�=B��$��2$���$���!)����!$!���)�%��!)$!�!)�
��!$!��;$��!)�� #� �#�=���(&+&$#B��(�$%%�!)�� #�+������(�!)�
�$�&+�>#�3 �-&(��
��3#$�+���!)��� !&��$%�-&(��
��3#$�+���$��
!)��		
"����)���&�!#&+!�+�3#!�#�$������!)$!�4&+)&5$��%$;����!
!)���2 %�B2��!���!&#�2��!�
�+�2��	�+3#&!B�1+!�HI��
	1JK�
$  %&���=�+$3���!)��!#$��$+!&���!)$!�5$'��#&���!��!)��+%$&2�)$�
�++3##���=�(�#�� !)�� �((�+!&'���$!���(���
	1�� ��)���&�!#&+!
+�3#!�(3#!)�#�#�$������!)$!�4&+)&5$�F�� 3=%&+� �%&+B�#�N3&#��
!)��$  %&+$!&����(�4&+)����2 ��-$;��1����Q�,,0������!)�#�=B
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#����#&�5�'�&��!)��� �3�$%�=���(&+&$#B����&5�$!&���3���#�!)�
�$�&+�>#�3 �-&(��
��3#$�+��"�%&+B��3��!��!)��$��3%2��!��(
!)��2$##&$5��=�!;����"$'$��$����$��2$��������4$#+)���
0�����!)���&�!#&+!�+�3#!���!�#���$���#��#�5#$�!&�5�!)����!$!�F�
2�!&��� (�#� �322$#B� G3�52��!� $��� ���B&�5� �$��2$��F�
2�!&���(�#��322$#B�G3�52��!���

�$��2$��� (&%��� $� 2�!&��� (�#� #�+���&��#$!&��� ��
��=#3$#B�06��0�����$%%�5&�5�!)$!�$��3%2��!�������!�($%%�3���#
Q� ,,0����� $���� !)�#�(�#��� �$��2$���� $�� !)�� �$2��
=���(&+&$#B� 3���#� !)�� �$�&+� >#�3 � -&(�� 
��3#$�+�� "�%&+B�
�)�3%��#�+�&'��!)���$�&+�>#�3 �-&(��
��3#$�+���!)��� !&��$%
-&(�� 
��3#$�+��� $��� !)��		
"�  #�+������ ��)�� �&�!#&+!� +�3#!
���&����$��2$��F��2�!&���(�#�#�+���&��#$!&������4$B�00�
0������

�$��2$���!&2�%B�(&%���$���!&+���(�$  �$%����:3���0���0����
�$��2$��� ��;� $  �$%�� !)�� �&�!#&+!� +�3#!F�� ���&$%� �(� )�#
2�!&��� (�#� �322$#B� G3�52��!� $��� 2�!&��� (�#
#�+���&��#$!&���

���
������

�� 	����
	������
�����	�����������

A��#�'&�;�!)���&�!#&+!�+�3#!F��5#$�!��(��322$#B�G3�52��!
�����
�������������������������
���������������7����,�����
H�!)��&#�����6K8����������������������
�������������0���7���0��
�0��H�!)��&#������K���	322$#B�G3�52��!�&��$  #� #&$!��;)��
!)�#��&������&� 3!��$��!��$�B�2$!�#&$%�N3��!&����(�($+!�$������
 $#!B�&����!&!%���!��$�G3�52��!�$��$�2$!!�#��(�%$;������������&'�
"��,����

1!�&��3��&��!)&��+$���&��;)�!)�#�!)���&�!#&+!�+�3#!�;$��+�##�+!
&��(&��&�5�!)$!��$��2$��F��+%$&2��$#��5�'�#����=B�4&+)&5$�
%$;����;�� #�'&�&�����(���
	1���!�#2&���;)�!)�#���
	1
$  %&���!�� #��2 !�4&+)&5$��%$;����)�� #�'&�&���� #�'&���&�
#�%�'$�!� $#!<��
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H$K 	3 �#���3#�8��((�+!&'���$!�����O+� !�$�� #�'&����&�
�3=��+!&���H=K��(�!)&����+!&����!)�� #�'&�&�����(�!)&�
�3=+)$ !�#�$����3=+)$ !�#�


��(�!)&��+)$ !�#��)$%%
�3 �#�����$�B�$���$%%�	!$!��%$;��&���($#�$��!)�B�2$B
��;��#�)�#�$(!�#�#�%$!��!��$�B��2 %�B���=���(&!� %$�
���+#&=��� &�� ��+!&��� ���7H$K� �(� !)&�� !&!%�� $��� ��!
�O�2 !� 3���#� ��+!&��� ���7H=K� �(� !)&�� !&!%��� � �)&�
��+!&����)$%%�!$D���((�+!����:$�3$#B������6,�

H=K ����!#3+!&���$���$  %&+$!&�����H�K��)&����+!&����)$%%
��!�$  %B�;&!)�#�� �+!�!��$�B�+$3����(�$+!&����;)&+)
$#������#�$�B�$+!��#��2&��&���!)$!��++3##����=�(�#�
:$�3$#B������6,���

0��
�	����Q�����H$K�H=K���


�� ���
���� 
����
������ ��������� !�������"�#���$��� %&
���������"�����6����0������H�!)��&#�����0K��;��&�!�# #�!��
!)��$  %&+$!&����(���
	1�Q�����H=KH�K�$��(�%%�;�<��

�)�� $  %&+$!&��� �(� ��
	1� !)3�� �� ����� 3 ��<� �K� $
��!�#2&�$!&����(�!)��!&2��!)��+$3����(�$+!&���$#�����$��
0K� $� ��!�#2&�$!&��� �(� !)�� !&2�� �(� $+!�� �#� �2&��&����
'����("�)�
����*	��������� �"�����60���0������6��H�!)
�&#�K�� #����� �������� ��7�
�	�� �60�� ���� 	��!�� 0�0�� ��6
-����0�� �,,� H����K� H+&!&�5� +$���K�� � �)�#�(�#��� 3���#
��+!&�������H=KH�K��&(��&!)�#�I!)��+$3����(�$+!&���$#���J
�#�#�%�'$�!�I$+!���(��2&��&���J����;)&+)�$� ���&���(3��
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��(���$�!� $;$#�&�5� !)��  %$&�!&((� 2$#&!$%�  #� �#!B� &�� !)�
$2�3�!� �(� P���������� � ��� $  �$%�� !)��4&+)&5$�� ��3#!� �(
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